Chemistry Ch 11 Test
PRETEST

Use the complete set-up for each problem.  Write a balanced equation, not the given and unknowns

1. Define what the limiting factor is:

2. 15.5 g of Magnesium is burned in air.

a. How many grams of  Magnesium oxide are produced?

b. What type of reaction is this?

c. How many moles of Magnesium are required?

d. How many grams of oxygen will be needed?

e. If a lab has a percent yield of 95.5%.  What will be the actual yield of Magnesium oxide be?  percent yield = (actual yield/theoretical yield)*100%

3. 25.8 g of Sodium chloride reacts with 10.0 g silver nitrate in water solution.

a. Which reactant is the limiting factor?

b. How many grams of excess reactant will be left over?

c. How many grams of  the precipitate will be produced?

4. 45.0 g of KClO3  are decomposed.

a. How many moles of KClO3 do you have?

b. How many grams of each product are produced?
